H—C USRS .

BB IL—+

: = —_—
— =y o
‘1— '—'

_“'!

_-nrﬂll'

lF

J_

TINIRRRRRND

W EESIE
- 120 140 170 230 300
# I /SBS- 4D | 80 | 4D | 8D | 40 | 8D | 40 | 80 | 4D | @D
<72 BEEE @ (ms)| 200 300 200 600 900
P2 F PRI tar (ms)| 150 200 200 250 300
WHEHE BEEES BEE—XU R
= = Y A®) EEEEL (/min) J
- F 1EZb 194D | FABFT HIENES ZERRRS (kem?)
SBS-120-4D 3000 1400 850X10° 2000 2000 2 05X10°
SBS-120-8D 5000 1400 8.50X10° 2000 2000 400X10°
SBS-140-4D 4000 2000 1LI0KI0 1800 3600 8.75%10°
SBS-140-8D 8000 2000 11010 1800 1800 135%10°
SBS-170-4D 6000 3000 170107 1800 3000 2 80X10°
SBS-170-8D 14000 3000 1704107 1800 1800 350X10°
SBS-230-4D 72000 6000 480107 1500 2200 00120
SBS-230-8D 26000 5000 480107 1500 1500 00156
SBS-300-4D 15000 70000 790X107 1200 1600 00843
SBS-300-8D 45000 70000 790107 1200 7200 0114
Huf151
REAILN B TL—k
AU TIwT
SFCTLL X5
T~

SBS-120,140,170,230,300

B =t SBS-120 SBS-140 SBS-170 SBS-230 SBS-300
-4D | -8D | -4D | -8D | -4D | -8D | 4D | -8D | -4D | -8D

HER LY Nm 15 30 30 60 60 120 | 260 | 500 | 800 | 1500
EEEE  DC-V 24 24 24 24
HEEN  W(at750) 23 28 62 82
E B ke 5 8 30 70
(GE) 1.2D, 8DYA TDRAFHARECTT,

2. SBS-300-4D/8DIE R+ 4ER T

3. THIRREICBWV T, R NLIDBHENC NSO FRT,

5 L
U—Rega 1000 B misy acy

I
230. 300 IcF
AS—DIEFT
R o
SIE T SEE
S
] \Q
é o — A
A ==
A
y
@dH7
BT mm
SBS SBS SBS SBS SBS SBS SBS SBS SBS
2 = -120-4D | -140-4D | -170-4D | -230-4D | -300-4D 2 I -120-4D | -140-4D | -170-4D | -230-4D | -300-4D
-120-8D | -140-8D | -170-8D | -230-8D | -300-8D -120-8D | -140-8D | -170-8D | -230-8D | -300-8D
A 120 140 170 230 300 Hyc J.—‘é;ia‘m 100 120 145 200 260
®Z_ A 60 70 90 125 175 1 % ¥ | M6X10 | M8X10 |[M10X15/M12X20|M16x30
sl C 120 140 170 230 300 d 20 25 40 55 75
B ¢y | 29 | 3 | 56 | 65 1oofﬂ“§b 5 7 | 10 | 15 | 20
D1 80 100 120 170 220 t 22 28 435 60 81
K 7 9 8 13 17
o L 80 95 110 145 200
] P 24 29 34 43 67
B Qq 1 1 1 2 3
R 55 65 75 100 130






